SS2H=ANE N
S ZH=AHELe|g Y
SI2H=E AL CEREE)
- _ - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
=dEN 9,854,388 19,700,638 A9,846,250
= 300,000
T 490,000
Al 9,064,388
BlxatdEdatl|gt Ly 8,369,425 17,844,831 29,475,406
= 300,000
T 490,000
Al 7,579,425
ZH=EHALXH 8,313,125 6,710,331 1,602,794
= 300,000
= 490,000
Al 7,523,125
ZetZH=AH A 1,531,692 1,450,617 81,075
201 &er=gll 64,210 88,817 A24,607
01 AtR2teiH| 64,210 88,817 N24,607
O23ZH= A= LBt=ZH|
1,800,000& 1,800
OSHAHYI| 2etSX= 88,0003 #501+1002 44,000
ORd===28= 28 =&  5,000,000&*13 5,000
OFH 3N sS4l 7,0003%18E»10! 1,260
OdHS=EH| 12,150,000& 12,150
203 g4l 9,000 17,000 28,000
03 AIBFXYE =AY 9,000 17,000 28,000
O2sds ge=d 9,000,000 9,000
306 EG= 1,458,482 1,344,800 113,682
01 £¢= 1,458,482 1,344,800 113,682
OZJILNE2H=NER £
1,458,482,000& 1,458,482
st=otgtF 4 S K& 3,907,000 4,262,601 /355,601
306 EH= 3,907,000 4,262,601 /355,601
01 £¢= 3,907,000 4,262,601 A355,601
OS2 SYMTEN 2 013
3,907,000,000& 3,907,000
SENSHAEOILIGIOIAHAEIE 590,000 600,000 210,000
307 212told 590,000 600,000 210,000
04 QIZHHALE X 590,000 600,000 210,000
OFE=Merd OHLIGIOIE HAEIE
590,000,000 590,000
HILOICIoHE 23 350,433 397,113 246,680
307 2iz2told 350,433 397,113 246,680
02 2IAHBHEL 350,433 397,113 246,680
OFHIH0ILIodH 238Hl 350,433,000 350,433
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A SEFE=MED
M 2o BHXAMABAESI|BES
R e IES SR YPEpNE (S &)
- _ — PoRE |
SN BB SR(EH) - MPAY - B 0l &t St HIRE2
CXE btat KRS ST = 600,000 0 600,000
= 300,000
< 90,000
Al 210,000
307 2I2+0I M 600,000 0 600,000
= 300,000
& 90,000
Al 210,000
02 QB AE X 600,000 0 600,000
OLIXNE Stet RSXd 2SS +=
600,000, 000& 600,000
= 300,000
S 90,000
Al 210,000
MOIA= St 0HLIHE K 834,000 0 834,000
= 250,000
Al 584,000
307 gI2told 834,000 0 834,000
= 250,000
Al 584,000
02 QIHAMEX 834,000 0 834,000
OMOIUA= 23} - OHLIJHE KA
834,000,000 834,000
< 250,000
Al 584,000
gtst 0Ll 2401 |4 2 RSE45 XJ 500,000 0 500,000
< 150,000
Al 350,000
307 2I2+0I M 500,000 0 500,000
S 150,000
Al 350,000
02 QIHAMEX 500,000 0 500,000
OBttt - LI 2201 sS4 & RSE4Hs X
& 500,000,000& 500,000
< 150,000
Al 350,000
BrStE Al AMY elzet =Y 56,300 4,129,500 24,073,200
Stat = AR A 0|0 KIAHY 56,300 18,300 38,000
201 Ler23H| 15,800 10,800 5,000
02 3324l 15,800 10,800 5,000
Oetato] Hel s sXIE= 2,000,000 300 A 6,000
OHSH M2 RE= 4,800,000& 4,800
OMelIAHME M= 200, 0003 x25H 5,000
307 21201 3,000 0 3,000
02 QItBAE XL 3,000 0 3,000
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FA 2EH=NEL
3. S}ZH=MHFELS(BAY
s 2Rt Al AMY Q1o =Y (S d &)
= - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
OHSAE HHEHSE HMA 2d=
3,000,000 3,000
401 AlZHIL SO 37,500 7,500 30,000
01 Al&Hl 37,500 7,500 30,000
OZtEAIFA OI0IX A 37,500
~HANSY W oatTM
100,000 *507H A 5,000
—atd X&I10] et 300,000 +2570 4 7,500
—Stul 2 SSAE= B 2at HIAY
5,000,000 *5H 2 25,000
SIS 2l & O 1,060,923 1,452,647 A391,724
Sa2tetAl 2el 660,923 1,302,647 A6A1, 724
o=tk A=A & dHl 660,923 1,302,647 ABA1, 724
201 Ler2dd| 20,200 21,200 1,000
01 AtR2teiH| 3,200 4,200 A1,000
OREN2ZAS &4 A2+ 1,200
—Jiz 70,0002 x6E 23] 840
—=1 30,000 x6H »22 360
OSYESA HENZ +8E
200,000& 103 2,000
02 E3=23Hl 17,000 17,000 0
Ogd =2t KAl 17,000
—usS®LFES 8,000,000 8,000
—Al&2tel =X 9,000,000 9,000
307 2iz2told 489,643 979,287 A\489,644
05 22t E= 489,643 979,287 A\489,644
OBH2SIC TEIAL ASCQ 2% 9l
489,643,000 489,643
401 AlZHIZ SO 151,080 302, 160 A151,080
01 AlZHI 150,000 300,000 A150,000
OS2t FAl2c 150,000
—=SRAACISA 50,000,000 50,000
—JIEAIE HUISAH 25,000,000 25,000
—Hi=Al4 EH] 25,000,000 25,000
—HEIABARLR A=SE Ex
50,000,000 50,000
03 AIZ=0HbI 1,080 2,160 21,080
Oga2st=tXl |Xl22l 150,000,000 0. 72% 1,080
SHESEA Y 400,000 150,000 250,000
o=t Rl e 400,000 150,000 250,000
207 ARl 400,000 140,000 260,000
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FA: 22HEAED
I Y=l 2l N
Rl SIS O (S d &)
SA B ER(S) - MRAE - BaS Of &r e HIDE
01 eipgEaly 400,000 140,000 260,000
Oga=2stetAl e A= 400,000,000 400,000
wEeF &y 30,000 0 30,000
w=FH X2 30,000 0 30,000
Stuus K& 30,000 0 30,000
308 AXISHHSOIH 30,000 0 30,000
06 WsJ|20tetE2x= 30,000 0 30,000
OStst, HY 25t WSS (LSAHE)
30,000,000 30,000
Y 2HZH(22H=AEDL) 44,040 53,160 29,120
el 2| 3,000 4,200 1,200
=xalsl 3,000 4,200 21,200
203 =4I 3,000 4,200 21,200
04 RASYARETY| 3,000 4,200 21,200
ORAN=2E R 250,000& x 122 3,000
Jl2&H 41,040 48,960 AT,920
Lot | 19,440 23,040 A3,600
201 ety 19,440 23,040 23,600
01 AR 22| 19,440 23,040 23,600
ORM2YII=ZH| 18,000
—Let=EH| 50,0003 15 123 9,000
—= 50,0002 x15& » 122 9,000
OSAD| 8xt= 120,000« 10 =123 1,440
1] 21,600 25,920 A4,320
202 OdH| 21,600 25,920 4,320
01 =LHOIH| 21,600 25,920 £4,320
OgRFAI 20 120,000 x 158« 12E 21,600
Hees (22 =8 S1) 350,000 350,000 0
RSP 350,000 350,000 0
Al.z. 7 A= xgs Ol ktate 350,000 350,000 0
311 A =S0lAetet 350,000 350,000 0
02 Al - - FXSNLI I SXLS0I A&kt 350,000 350,000 0
OSyEteAl EXMNLE XE= Ol et=
350,000,000 350,000
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